02/11/06
61 348 Service Operations Management
Midterm Exam
Short-type Essay Questions:

1. How can Service Operation managers establish service products that can be produced and consumed in different places? (2 Points)
· Relying heavily on automated systems (ex. On-line reservation, pre-registration…)
· Offering convenient ways of bringing the service/product right to the guest (Fast-food home delivery, ATM machines, on-line banking…)

2. What are the main differences between “Chain” and “Boutique” hotels as far service concept is concerned? (3 Points)
Boutique hotels have specially targeted customers looking for very special products and every customer is given special attention. Of course, here, the price may be higher as is the quality of service. Therefore, the concept of “Boutique” hotel should incorporate these characteristics such as specially targeted guests who are prepared to pay a premium price for the high quality product as well as the quality-driven home-like service environment that are not replicated anywhere else. On the other hand, “Chain” hotel targets large number of customers, mainly price-sensitive who are approached by employees in a standardized way!
3. List some concerns constituting major challenges faced by Service Operation Managers as far as material component is concerned. (3 Points)
Some concerns constituting major challenges faced by Service Operation Managers as far as material component is concerned are:
· Quality or size

· Appearance

· Effectiveness

· Cost

· Consistency of supply

· Viability

· Workability

4. List some modern and contemporary applications to Service Operation entities as far as technology component is concerned. (3 Points)
Some modern and contemporary applications to Service Operation entities as far as technology component is concerned are:
· Internet reservations
· Central Reservation Systems

· Computerized payment systems

· Computerized room allocation
· Automatic check in and check outs
· EPOS system
·  ATM machines
· Vending machines
5. At Hillside Hotel, guests valued the free use of recreational facilities as an important determinent for customer satisfaction. (1 Point)
6. What is Capacity (Aggregate) Planning? (2 Points)
Capacity (Aggregate) Planning involves determining the resource capacity that the firm will need to meet its demand. Its role is to convert the strategic types of marketing plans or demand forecast associated with long-range planning into overall capacity requirements. Later, the aggregate capacity requirement will serve as a basis for short-term resource and capacity allocations. 

7. What is the most important Strategic Service Unit (SSU) at Hillside Hotel? (1 Point)
The most most important Strategic Service Unit (SSU) at Hillside Hotel is the Rooms Division department.
8. What are the major organizational benefits achieved from Quality Management? (2 Points)
The major organizational benefits achieved from Quality Management are:
· to guarantee customer satisfaction, and thereby repeat business in commercial organization such as hotels
· to achieve cost-effectiveness in the long run through standardization of service delivery as well as reduction of cost of error
· to optimize profit through perceived quality versus price attributes or to minimize the cost through efficiency
Problem Solving:

1. The following table shows the number of Guest Nights, Average Bed Price, and Total Room Revenue of Hillside Hotel for the last ten years. Use these data to answer the underneath questions. 

	Year
	Guest Nights
	Average Bed Price
	Revenue
	Triple Moving Average

	 
	1
	2
	(1) * (2)
	 

	
	
	
	
	

	1
	65,710
	$55.24
	$3,629,820
	---------

	2
	66,040
	56.12
	$3,706,165
	---------

	3
	66,852
	56.23
	$3,759,088
	66,200.67

	4
	67,750
	57.95
	$3,926,113
	66,880.67

	5
	68,423
	58.43
	$3,997,956
	67,675.00

	6
	65,871
	62.03
	$4,085,978
	67,348.00

	7
	69,256
	61.45
	$4,255,781
	67,850.00

	8
	70,400
	62.92
	$4,429,568
	68,509.00

	9
	71,173
	63.08
	$4,489,593
	70,276.33

	10
	72,560
	64.77
	$4,699,711
	71,377.67

	11
	72,313
	65.89
	4,764,708
	72,493


a) Forecast demand (in Guest Nights) for the 11th year using the Triple Moving Average Growth Method. (Show all necessary calculations) (3 Points)
→ Look table above!
b) Now use the regression equation: Y = 64,493.93 + 710.8303 * X to forecast the guest nights for the 11th year (1 Point)

→ Look table above! 
c) Use the regression equation Y = 1.10 * X + 53.75 to estimate the Average Bed Price (ADR) for the 11th year. (1 Point)

→ Look table above!
d) Now calculate the Total Room Revenue (do not forecast) for the 11th year using the above results found from parts b) & c). (1 Point)
→ Look table above!
2. Hillside Hotel’s Food & Beverage Manager wishes to establish a quality control program for the time taken by servers to bring an order to guest table . He thinks that trained & skilled employees should be able to bring orders from the kitchen more efficiently & effectively. But, at the same time, he is worried about the quality of the order time handled by servers. He decides to observe the productivity (measured here as function of the number of minutes spent from the time the order is made till the time it is brought to guest table) of employees. Using five different samples taken during the weekdays, he has managed to collect the following data:

	Sampling Day
	Average Order Time
	Range (Highest - Lowest)
	# of observations

	 
	(Min)
	 
	

	
	
	
	

	1
	2.38
	0.16
	7

	2
	2.15
	0.42
	7

	3
	2.25
	0.63
	7

	4
	2.69
	0.33
	7

	5
	2.33
	0.50
	7


a) Calculate the Average Sample Mean (ASM). (1 Point)

· Average Sample Mean (ASM) = 2.36 Minutes
b) Calculate the Average Range. (1 Point)
· Average Range = 0.41 Minutes
c) Calculate the Upper Control Limit (UCL) & Lower Control Limit (LCL) of the R-Chart. (1 Point)

· UCL (R-Chart) = 1.92 * 0.41 = 0.7834 Minutes 
· LCL (R-Chart)  = 0.08 * 0.41 = 0.0326 Minutes
d) Calculate the Upper Control Limit (UCL) & Lower Control Limit (LCL) of the X-Chart. (1 Point)

· UCL (X-Chart)  = 2.36 + (0.42 * 0.41) = 2.53136 Minutes
· LCL (X-Chart)  = 2.36 – (0.42 * 0.41) =  2.18864 Minutes
e) Draw the R-Chart. (2 Points)
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f) Draw the X-Chart. (2 Points)
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g) What would you comment (i.e. Infer) from the findings of the R & X Charts? (2 Points)

The Food & Beverage manager at Hillside Hotel was right that the Order time was out of control. In fact, the X-chart shows that the ASM of Order time has deviated above the upper control limit (UCL) as well as the lower control limit (LCL).
 As far as the R-chart is concerned, it shows that the process is in control. (i.e. The average range or difference in order time for each sampling day has not exceeded the limits).
From the above charts, the follwing might be concluded:
· The average time taken per employee to take and execute an order is far above the expectation (X-chart) but there is no difference in order time variance between employees on the same day!

· This might suggest that employees, on the same day, responsible for taking orders have received similar training, and or possess similar skills on setting up tables.

· Therefore, Food & Beverage manager shall concentrate on retraining the whole group to a certain minimum standards as far as executing a standard order is concerned!
Good Luck!
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